H
S
o

a(d cot(B))

1072

o 4 it ]

5 = H B k

R & oot M

B TR RIS 1114 5_
E 4 : J.: HF'T<I|

P g 4 . r
0.95t Al T: ]

-1 2 3
10 1 TPlpoT (PCA t%obeamliné[f)

- 3
10 1 1 2 1
0 TP |oO (PCA t%obeamllnef)

T
—=— DQM_IT__onignal
—— DQM_TT__0Opt09_PU3
—+— DQM_TT__1pt09_PU3
—— DOM_TT__2pt09_PU3

- -
1S I3
o o
- ~
~ =
o 2
o 107§ 2

o
©

o105l b
T H |+ J1L[H Ly :
o I | [T |+ :
o= T R R e R R
TR ITHTE T
0.950 : :

1 -1 2 3
10 ! 10 ! TPl[g)T (PCA f%)obeamlinép

a0 p,/p,)

0.95H- : ’ R

-+

—1 ; : 2 3
10 L TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


